



Name: _____

Date: _____ Score: _____

$$\left(\frac{3}{2} - \frac{1}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{6} - \left(\frac{3}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} + \frac{1}{6}\right)^2 - \frac{1}{6}\left(\frac{1}{3} - \left(\frac{3}{4}\right)^2\right) =$$

$$\left(\frac{3}{2} + \frac{1}{2}\right)^2 + \frac{2}{3}\left(\frac{2}{3} - \left(\frac{3}{2}\right)^2\right) =$$

$$\left(\frac{2}{5} + \frac{1}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{3} + \frac{1}{6}\right) =$$

$$\left(\frac{1}{6} + \frac{3}{4}\right)^2 + \frac{3}{4}\left(\frac{1}{4} - \frac{1}{4}\right) =$$

$$\left(\frac{1}{3} - \frac{3}{4}\right)^2 + \frac{1}{6}\left(\frac{1}{6} - \left(\frac{1}{6}\right)^2\right) =$$

$$\left(\frac{1}{3} + \frac{1}{3}\right)^2 - \frac{1}{4}\left(\frac{1}{2} + \frac{3}{5}\right) =$$

$$\left(\frac{3}{4} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{1}{5}\right)^2 =$$

$$\left(4 + \frac{1}{4}\right)^2 - \frac{1}{3} - \frac{1}{4} \times 3^2 =$$

$$\left(\frac{1}{3} - \frac{1}{2}\right)^2 + \frac{2}{3}\left(\frac{3}{4} + \frac{1}{3}\right) =$$



Name: _____

Date: _____ Score: _____

$$\left(\frac{3}{2} - \frac{1}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{6} - \left(\frac{3}{2}\right)^2\right) = \frac{23}{72}$$

$$\left(\frac{1}{2} + \frac{1}{6}\right)^2 - \frac{1}{6}\left(\frac{1}{3} - \left(\frac{3}{4}\right)^2\right) = \frac{139}{288}$$

$$\left(\frac{3}{2} + \frac{1}{2}\right)^2 + \frac{2}{3}\left(\frac{2}{3} - \left(\frac{3}{2}\right)^2\right) = \frac{53}{18} = 2\frac{17}{18}$$

$$\left(\frac{2}{5} + \frac{1}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{3} + \frac{1}{6}\right) = \frac{709}{900}$$

$$\left(\frac{1}{6} + \frac{3}{4}\right)^2 + \frac{3}{4}\left(\frac{1}{4} - \frac{1}{4}\right) = \frac{121}{144}$$

$$\left(\frac{1}{3} - \frac{3}{4}\right)^2 + \frac{1}{6}\left(\frac{1}{6} - \left(\frac{1}{6}\right)^2\right) = \frac{85}{432}$$

$$\left(\frac{1}{3} + \frac{1}{3}\right)^2 - \frac{1}{4}\left(\frac{1}{2} + \frac{3}{5}\right) = \frac{61}{360}$$

$$\left(\frac{3}{4} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} + \frac{1}{5}\right)^2 = \left(-\frac{97}{300}\right)$$

$$\left(4 + \frac{1}{4}\right)^2 - \frac{1}{3} - \frac{1}{4} \times 3^2 = \frac{743}{48} = 15\frac{23}{48}$$

$$\left(\frac{1}{3} - \frac{1}{2}\right)^2 + \frac{2}{3}\left(\frac{3}{4} + \frac{1}{3}\right) = \frac{3}{4}$$